CHAPTER 208 FACTOR MARKETS AND THE

Pamel (b) shows the equillibrium in the market for capital. In contrast to the supply
curve for land, the supply curve fior capital s rdatively elastic. That's because the supply of
capital is relatively responsive to price: capital comes from the savings of Investors, and the
amount of savings that nwestors make avallable |3 relatively responsive to the rental rate
for capital. The equilibrium rental rate for capital, R® cuira and the equilibfium quantity
of capital employed in production, Q° s, are given by the Intersection of the two curves.

Ome small aside—you may have noted that producers frequentty purchase land or
capital rather than rent it over time Does this fact mean that our model no longer
works? Mio—it just means that we have to make an adjustment. We have to take into
account that a parcel of land or a piece of machinery that has been purchased by 2
producer generates future revenue as well as current revenue. Using the present value
method, which we learned in Chapter ¥, we can convert the value of the marginal
product stream that the parcel of land or machine generates today and In the future
inte its present value, Thus, a producer will purchase parcels of land or pieces of
machinery up to the polnt at which the present value of its current and future stream
of the value of the marginal product is equal to its factor price. If you examine our
analysls of present value In Chapter 9, you'll see that, other things egual, present
value increases when the Interest rate falls. This leads to an (mpartant abservatlon
about how markets interact: other things equal, 2 fall in the interest rate (the real
interest rate, which |3 the interest rate adjusted for changes in the purchasing power
of money) leads to a rightward shift of the demand cutves for land and for capital,
with higher equilibrlum prices and gquantities transacted.

The Marginal Productivity Theory of Income Distribution

%o we have learned that when the markets for goods and services and the factor mar-
kets are perfectly competitive, a factor of production will be emploved up to the polint
at which its value of the marginal product s equal to its market equilibrium price.
That is, it will be paid its equilibrium value of the marginal product. What does this
say about the factor distribution of Income? It Jeads us to the marginal productiv-
ity theory of income distribution, which says that cach factor is paid the value of
the output generated by thie last unit of that factor employed In the factor market as
a whole—its equilibrium value of the marginal product.

To understand why the manginal productivity theory of Income distribution s
important, look back at Figure 20-1, which shows the factor distribution of
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Accasthng o the manginal preductivity
ey of inceme distribution. svery
fnctar of production = pas ity agquilibs-
um walue of the margmal prodect

imcome In the United States, and ask yourself this guestion: who or what decld- m _____________ £

ed that labor would pet 70.4% of total U5, income? Why not 90% or 50%7 !

The argwer, according to the marginal productivity theory of income distri-
bution, is that the division of income among the economy’s factors of produc-
Hon {sn't arbltrary: it is determined by each factor's masginal productivity a8t |
the economy's equilibrium. The wapge rate earned by all workers in the econo-
my is equal to the Increase In the value of output generated by the last worker
emploved in the economy-wide labor market. i

Here we have assumed that all werkers are of the same ability. (Similarly,
wie've assumed that all units of land and capital are equally productive.) Buk im !
reality workers differ considerably in ability. Rather than thinking of one labor
market for all workers in the economy, we can [nstead think of different mar-
kets for different types of workers, where workers are of equivalent ability with-
in each market, For example, the market for computer programmers s dfferent
from the market for pastry chefs. And in the market for computer program- |
mers, all participants are assumed to have equal abllity; Hkewise for the market
for pastry chefs. In this scenario, the marginal productivity theory of income
distribution still holds. That is, when the labor market for computer program-
mers 15 in equilibrium, the wage rate earned by all computer programmers is
equal to the market's equilibrium value of the marginal product—the value of
the marginal product of the last computer programmer hired in that market. o

GETTING MARGINAL
PRODUCTIVITY THEORY RIGHT
Ir's Important to be carsfiel bt what
the masginal productivity theory of income
distribution say: it says that o enits of 3
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the factor employed,

The most comman wosce of error 11 o
forget that the slevant walue of the mai-
giral product is the equilibrium value, not
tha valss of the marginel products you cal-
colale om the way to eguilibrium. In look-

1 ng at Table 20-2. you might be tempted
¢t think that becsuse the First worker has
' value of the marginal predwct of $330,

that workss b paled $180 n equihrium.

i Mot 5o iF the eguilibrium value of the mar-

i ginal product  the labor marked 5 equal
to 3200, then off warken rceive 3200,



